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What is the immediate result of each cycle of beta oxidation for a fatty acid?
a. The fatty acid is completely converted into b, One molecule of acetyl-CoA is produced, and

acetyl-CoA the fatty acid chain is shortened by two
carbon atoms
c. The fatty acid chain is lengthened by two d. One molecule of glucose is produced from
carbon atoms and converted into a the fatty acid chain
triglyceride

Which of the following statements accurately describes the function of the urea cycle?
a. Itconverls ammonia to urea, which is less b. Itsynthesizes urea from glucose and fatty

toxic and more water-soluble for excretion acids for energy storage

¢. It breaks down urea into ammonia and d. Itconverts urea into amino acids for protein
carbon dioxide to provide energy synthesis

What is a primary function of the pentose phosphate pathway (PPP) in cellular metabolism?

a. It primarily generates ATP through b. Itconverts glucose into two molecules of
substrate-level phosphorylation pyruvate

c. Itis the main pathway for the synthesis of  d. It provides NADPH and pentoses for
cholesterol and other sterols biosynthelic reactions

Which one of the following enzymes does not need activation during catalytic reaction?

a. Lipase b. Pepsinogen

¢. Trypsinogen d. Proelastase

In zero order kinetics, the enzyme catalyzed reaction shows:

a. Increase in velocity b. Decrease in velocity
¢. No change in velocity d. Variable velocity
Inhibitors bind non covalently in:

a. Reversible inhibition b. Irreversible inhibition
¢. Allosteric inhibition ~ d. None of these

Change in entropy is expressed as:

a. AH b. AG
¢. AE d. AS
Select the process involved in the reaction ATP= ADP +Pi
a. Phosphorylation b. Hydrolysis
¢. Oxidation d. Reduction

Match List I (Enzyme) with List IT (Function) and select the correct answer using, the
codes piven the lists.

List-1 List-11
a. DNA Ligase 1. Catalyses the covalent union of segments of an interrupted
sugarphosphate strand in double-stranded DNA
b. DNA polymerase 2. End nuclease that digests either single stranded or double
stranded DNA
c. DNase 1 3. Produces single or double stranded breaks in DNA during

replication to release tension brought about by the separation of
double strands

d. DNA topoisomerase 4. Catalyses the formation of DNA worn deoxyribonucleotides
using one strand of DNA as template
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